
AMERICAN VINTAGE 58 PRECISION BASS® (01910028XX)

COPYRIGHT - 2013 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 1 of 4

Aug 14, 2013 - Rev. B

PARTS LAYOUT

1

6

4

2

3

5

7

9 10

8

11 12

13 14 15 16
17

13 14 15 16
1817

16 17 19 20

2110

2322

2524

24 25

7 26

7 27

http://www.fender.com/
http://www.fender.com/
http://www.fender.com/


AMERICAN VINTAGE 58 PRECISION BASS® (01910028XX)

COPYRIGHT - 2013 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 2 of 4

Aug 14, 2013 - Rev. B

PARTS LIST

REF# DESCRIPTION PART 
NUMBER

1 AM VINT 58 P-BASS BODY F3TSB 0095611500
1 AM VINT 58 P-BASS BODY WBL 0095666501
1 AM VINT 58 P-BASS BODY BLK 0096176506
2 NECK VINT 58 P-BASS MPL 0095612000
3 KEY SET VINT BASS 0078834000
4 BUSHING STRING POST VINT BASS 0019509049
5 SCREW SMAB 3 X 3/8 RHP NI 0011357049
6 STRING GUIDE VINT BASS 50’S 0095421000
7 SCREW SMA 5 X 5/8 OHP NI 0015602049
8 SCREW WOOD 8 X 2 OHP STL BRITE NI 0058060000
9 THUMB REST 0992036000

10 SCREW SMAB 5 X 1 OHP NI 0015610049
11 PICKGUARD 58 P-BASS GOLD ANODIZED 0095634000
12 SCREW SMAB 4 X 1/2 OHP NI 0015578049
13 KNOB CONTROL 58 TELE KNURLED CHROME 0094057000
14 CONTROL 250K 10% 0990831000
15 SET SCREW 8-32 X 3/16 0994922000
16 NUT HEX 3/8-32 X 3/32 TK NI 0016352049
17 WASHER LOCK INTL 3/8 X .687 0016436049
18 CAPACITOR CAP WAX PAPER .10µF 150V 0096453000
19 JACK PHONE OPEN CIRCUIT 0021956049
20 WASHER FLAT 3/8 X .614 NI 0031153049
21 BRIDGE ASSY AM VINT 58-PBASS 0095613000

21A BRIDGE PLATE JAZZ BASS 0010538070
21B BRIDGE SECTION 5/16-40 VINT BASS NI 0095420000
21C SET SCREW 6-32 X 7/16 OVPT SL NI 0016105049
21D SCREW M 6-32 X 1-1/2 RHP NI 0015842049
21E SPRING COMPRESSION 1-1/16 #144 0018689049
22 PICKUP/SHIELD ASSY 58 P-BASS 0095683000
23 SCREW 4 X 1-1/4 WOOD RND PH NI 0027035049
24 STRAP BUTTON NI .156 0994915000
25 SCREW WOOD 6 X 1 OHP NI 0016188049
26 BRIDGE COVER CHROME P-BASS 0010108000
27 COVER STEEL PICKUP VINT  UPG P-BASS CHROME 0096825000
* CASE VINT 58 P-BASS TWEED/RED 0096373000

NOT PICTURED IN DIAGRAM*=

http://www.fender.com/
http://www.fender.com/
http://www.fender.com/


AMERICAN VINTAGE 58 PRECISION BASS® (01910028XX)

COPYRIGHT - 2013 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 3 of 4

Aug 14, 2013 - Rev. B

WIRING ASSEMBLY

.1 M
FD

150 VD
C

VOLUME
CONTROL 

PICKUP ASSY 

TONE
CONTROL 

OUTPUT
JACK 

CAPACITOR
.1µF

BLACK WIRE 
TO BRIDGE PLATE

http://www.fender.com/
http://www.fender.com/
http://www.fender.com/
dwiggins
Note
This "REV B" wiring diagram differs from the "REV A" version.



AMERICAN VINTAGE 58 PRECISION BASS® (01910028XX)

COPYRIGHT - 2013 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 4 of 4

Aug 14, 2013 - Rev. B

SWITCH AND CONTROL FUNCTION

MASTER VOLUME

MASTER TONE

http://www.fender.com/
http://www.fender.com/
http://www.fender.com/

